Concurrent ML
Exercise 6: Duplicating Ports in Multicasting

1 Goal

Add the following feature to our re-implementation of multicasting:

(* copy p creates a new port that has the same state as p; i.e.,
exactly the same messages will be receivable via the new port
as are receivable via the old port *)

val copy : ’a port -> ’a port

2 Submission

Bring a copy of your program, or as much of it as you are able to write, to Wednesday
afternoon’s exercise session, and also make it available on the WWW. Be prepared to talk
about your solution during the exercise session.



